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The following tables shows the number of employees working in six different Offices (A-F) of an
IT Company during the years from 2018 to 2023. Based on the data in the table, answer the
questions that follow.

Year-wise Details of emplovees of an IT Company

Number of Emplovees working in office

Year
A B C D E F

2018 | 290 | 176 | 222 | 240 | 280 | 272
2019 | 256 | 132 | 240 | 224 | 304 | 264
2020 272 | 192 | 264 | 248 | 316 | 280
2021 366 | 184 | 250 | 270 | 332 | 232
2022 | 320 | 214 | 280 | 236 | 340 | 292
2023 | 300 | 226 | 296 | 258 | 348 | 300

Sub questions

Question Number : 1 Question Id : 34212313144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the year 2020, the number of employee working in office-C is approximately
less than the total number of employees working in all the six offices together.

I

2

4.

81

. 86

.28

83

Options :

1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212313145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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For all the six given years, the difference between the average number of employees working in
office-D and office-E is

1. 74

(]

. 66
i W

4.70

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212313146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In office-F, the percentage increase in the number of employees in comparison to previous year is
more than 6% for exactly -----—----- years(s)

I3

B
(g

4.4

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212313147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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For all the six given years, what is the ratio of total number of employees working in Office- A to
that in office-B?

L2
2.41:26
3.19:11

4.11:19

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212313148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the years 2018 and 2019, the ratio between the number of employees working in all the six
offices together is

1. 13:11
2.13:14
3.37:36

4.4:3

Options :
1.1
2.2
3.3
4.4

Question Id : 34212313143 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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3t glfvIg:

Sub questions

318 & St # =G P19y IR e
- BT 5 BrRIRT HHATRGl &1 e
AlBlc|D|E]|TF
2018 290 | 176 | 222 | 240 | 280 | 272
2019 | 256 | 152 | 240 | 224 | 304 | 264
2020 272 | 192 | 264 | 248 | 316 | 280
2021 | 366 | 184 | 250 | 270 | 332 | 252
2022 320 | 214 | 280 | 236 | 340 | 292
2023 | 300 | 226 | 296 | 258 | 348 | 300

Question Number : 1 Question Id
Correct Marks : 2 Wrong Marks : 0

ay 2020 H, AT ¢ H HRERT HHAIA] $1 9= 9T 98 H] I HAH 39 SR
ARG BT ol AT Y FHT % HH G|

I

I

4.

81

. 86

.28

83

Options :

1.1
2.2
3.3
4.4

: 34212313144 Question Type : MCQ Option Shuffling : No

Question Number : 2 Question Id : 34212313145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Yl UG 38 981 & A H, DI D 3R P E H SRR SHEINRG! ST 319d e
& &g T AR YA Y fba1 82

1. 74
2. 66
L W

4.70
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212313146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

®Eidg-F 4, 9 0 9 3id -31d fdhd- I81 H 7Td 94 $i Jei=1 § Hrad HHdd| & Yo o
TIARd i 6% W 31fed 381 82

I:1

a9

3.3

4.4
Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212313147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ued OHl B8 a9 & A H, HIEad-A H SRR HHANRG! &1 U8l & HAad- B H HIERd
DHHATRYT T G=&AT Y U fdd-1 g2

Li2nd

I

.41:26
3.19:11

4.11:19
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212313148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gy 2018 9 2019 H, 94l &g STl B 06 H ITH SR FHARGI DI TR & & Bl
39U fhaH1 g2

1. 13:11

2

.13:14

3.37:36

4. 4:3
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123517
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212313149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the phases of Inquiry -based learning approach in a sequence from Phase I to Phase V

A. Discussion

B. Orientation

C. Conceptualization
D. Conclusion

E. Investigation

Choose the most appropriate answer from the options given below:

1.A,B,C,D,E
2. E:AD B, C
3.B,C,E, D A

4. B, E.AC.D

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212313149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

£

U5dls SR TTH Ugd DI TR 1 U ORE Vv & b H HafId HIfolu:

A T4l

B. JHHfdrg
C. SUgdiHIyul
D. [shYy

E. 3<aYU[

-+ fGu T fasedl § 9 &gl IR &1 994 Sifeu:

Lo By G B E

2. E A DB, C
3 B.CEDA

4 B.EACD
Options :
1.1
2.2
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3.3
4.4

Question Number : 7 Question Id : 34212313150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In self-directed learning which of the following are the key features of self- directed students?

A. They have Intrinsic motivation.

B. They have the capacity to choose personal goals.
C. They have self- discipline.

D. They have self- assessment ability.

E. They have metacognitive skills.

Choose the most appropriate answer from the options given below:

1. Aand D only
2. B and E only
3.C,D and E only

4. A.B,C,DandE

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212313150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. 31 3iqyd TR gk B
B. 391 dufckid dl&d! BT I8+ H- &1 AT gldl o
C. 3H AR BT ¢ |
D. 34 U] Jelihd H3- 1 AgdI gldl ¢
E. 31 SIS S g1 g
d feu U fqdh el & 9 F8T IR &1 98- BT

1. Hdd A ARD
2. %dd B3R E
3. $Had C, D 3R E

1. A.B.C.DE

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212313151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The motivated forgetting of traumatic or other very threatening events is known as-

1. Repression

t-2

. Proactive interference
3. Retroactive interference

4. Consolidation
Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212313151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR SATHTd A1 3 YRINgES geAs 9 SR 4 &f dgd 8

1. GHT
3T Ugd

. qdeardi ugd

4. 9994

f-2

L8]

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212313152 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
(Swayamprabha Channel Number) {Theme)
A_ | Channel 10 [. | Professional Education
B. |Channel 11 II. |Basic and Applied sciences
C. [Channel 12 III. | Social Sciences and Humanities
D. |Channel 13 IV. | Applied Sciences

Choose the correct answer from the options given below:

1. A-IIT, B-II, C-IV, D-1
2. A-IV, B-III, C-11, D-1
3. A-1, B-II, CIII, D-IV

4. A-II, B-IV, C-1I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212313152 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

L

A | @10 I |caraaias (dibeEa) e
B. 9@ 11 1. |7 3R g fagH

C. [@9d12 1L | FHIeTe a9 SR JHfaas!
D. |<a 13 IV, | 3rvgad fagm

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-III, B-II, C-IV, D-1I
2. A-IV, B-III, C-II, D-1
3. A-1, B-II, C-II, D-IV

4. A-IL, B-1V, C-1I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212313153 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which of the following tools would be most effective for a teacher wanting to poll students in

real- time during an online lecture?

A. Poll evervwhere
B. Labster

C. Strawpoll

D. Mentimeter

E. Survey monkey

Choose the most appropriate answer from the options given below:

1.B, C and E only
2. B and C only
3.A.C.D andE only

4. C, D and E only
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Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212313153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafRad o 9 Y IUHI0 U S AR & GRM [daiiddl & e & [t T=5$
f21erb g it Uyl g

(]

A. U1d TR
B. TY

1 fqu Y fdsedl § 9 Fg SR &1 99 HifoT:
1.%dd B, C 3R E

HAd B 3R C

3. ®dd A, C, D 3RE

4. H9dC, D ARE

Options :
1.1
2.2
3.3
4.4

]

Question Number : 11 Question Id : 34212313154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC regulations 2018 on plagiarism. which of the following percentage of
similarity in the thesis would require a student to submit a revised thesis within six months?

1. 9%

(]

. 13%
3.42%

4. 47%

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212313154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yifge d_ el fayfaerera aer smant (g sft 9 faf499, 2018 & IR A Ude o
frafeiRad § O fara Uic=Id Saar urs S WR fhdl €13 61 ©8 018 & iR Y=Iied 2y
PEER IS GRS

1. 9%

]

. 13%

. 42%

LIFE]

4. 47%
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212313155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A researcher conducts a study on a population and obtains some results. He now wants to
generalize these results to a different population, For this, his measurements should show

1. External Validity

(]

. Internal Validity
3. Convergent Validity

4. Divergent Validity

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212313155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Udh YDl [l S & oy o 300 il g 3R 39 e GRom Uit gid g
34 98 39 UROTH| B! ha! (24 S8 1Y GHR g d SR 918dl ¢ | 39 o 39D
Ao H fafaRad g S =91ige

1. STgT a4l

2. SHIdRS e
3. SHIEERT qer
4. YR derd

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212313156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the correct statements regarding web- based study of human subjects

A. It requires considerably more time per person than laboratory based study.

B. Data collection occurs at the convenience of the participant.

C. Data collection is automatic.

D. It can be conducted on participants who would have been out of reach of the researcher in
physical mode.

Choose the most appropriate answer from the options given below:

1. A. Band C only
2.B. C and D only
3.A.Cand D only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212313156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A4 a9l & 99 MR g4 & Yo H Tgl Syl UgdH i

A. SYH TRTTRITC 329 &1 Jo1 H Uid Afdd SIhT 3Hi¥d YT &1 31dRadhdl gidl g

B. HgHIT &1 Gfael & 38R iid sl Bl Yehel fobdl Sl g1

C. 33! B 994 Wd: gidl g |

D.%%ﬂgﬁ%ﬁﬂﬁ%ﬂ%%ﬁ%@@wwd¢diﬁ Ugd °
CIR |

1 feu U fas ettt # 9 F1 IR &1 99 DI
I.had AB 3R C
2. HddB, C 3R D
3. Had A, C 3R D
4. HId A, B 3R D

Options :
1.1
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2.2
3.3
4.4

Question Number : 14 Question Id : 34212313157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the correlation coefficients computed from the following information on covariance i.e.
cov (x.y) and standard deviation Oy and @, in increasing order.

A Lot[xl]—lﬂcr =4,0,=9
ov(x,¥)=15,0, =8,0,=3
(
(

r'

C cov(x,y)=160,=7,06,=4

ceov(x,y)=2lo, =6,0,=5
Choose the most appropriate answer from the options given below:

1.8 0C. B .

f-2

B, C DA
3:C.BAD

4.D,B. A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212313157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YE-URUI 3T cov (x.y) 3R AFS fddeH! o, 3R o, ¥ Ydfeid Hafafad gt &
3{TYR IR GRS IeTd Ug Yd¢ 0Mh] Bl d¢d H T TafRUd HIfSu-

A cov(x,y)=18,0,=4,0,=9
B. cov(x,y)=15,0,=8,0, =3
C.cov(x,yj=160,=7,06,=4
D. cuv{.r, }']:2!,1:}'_1. =6,0,=5

i feu TU fah el § 9 3T 3TR &1 994 DIfIT:

1.A,C,B,D

2.B,C,D. A

3.C,B,A,D

4.D,B,A,C

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212313158 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI

(Scale of measurement)

LISTII

(Example of variable)

A | Nominal [ | Weight of students
B. | Ordinal II. |Ethmcity

C. |Interval III. | Degree of annovance
D. |Ratio IV. | Date of birth

Choose the correct answer from the options given below:
1. A-I, B-II, C-1II, D-IV
2. A-IIL B-IIL C-IV, D-I
3. A-IIT, B-IV, C-1, D-II

4. A-1IV, B-1, C-II, D-III

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212313158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CAIERIEEIELY

I I
mmﬁ%ﬁm ﬁ?a?ﬂm
A |TIf® I | &l aed
B. |pHYE® 1. | e
C. | 3R 11 | GTo &l |5 (Fe)
D. |3rqurd IV. | o4 fafd

A 16U U f[ddedl § 4 Tot 3R &1 999 HIIT;

1. A-I, B-II, C-III, D-IV
2. A-1I, B-III, C-1V, D-1
3. A-III B-IV. C-1. D-IT

4. A-IV, B-1, C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212313159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Access to information through the invention of print was responsible for the emergence of

1. Mediated class distinction

I

. Media monopoly
3. Mass media

4. Electronic device of interpersonal communication
Options :
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1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212313159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ul &1 AR gl & IURId Y1 B Sudsidl [HEfdaRad & snfdufd & fau Sorert 4i:
- Hafgd & faHg

HIfST BT THIEUDR
3. A Hifsar

—

B

4. 3{=R- d4fddd YUYl & FaldTidh SUHIU

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212313160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The development of vitascope led to:

1. The silent film era

I

. Video advertisements
3. The television network system

4. The arrival of computers

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212313160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 20/186



8/31/24, 10:38 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

faeRIu & fdbTy & HRUT Fgieiad Hf Yead g
O e g &l

difSa fasmot &1

3. Eelifde Hedd yuirell o

4. SR & A Bl

Options :
1.1
2.2
3.3
4.4

—

f-2

Question Number : 18 Question Id : 34212313161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The internet portals function like

A. Folk entertainers

B. Mass circulation magazines

C. T.V. networks

D. Sites of meta-aggregate contents
E. The home page of users

Choose the most appropriate answer from the options given below:
1. A B, Conly
2.48:; B, C, Donly
3.A.C,D only

4.B,C,D.E only

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212313161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. TP FARSHDT & THH
B. 5o Ul H URdnidd g drell UEidb18ll & THM
c. 91, d1. Fadd & A

D. AU Urad IrEll & -idl & GHH
E. TNTh ISl & T U (319 Ud) & 99

- feu U faded! ¥ FpT IR B 90 HIST:
1.Hdd A, B, C
2. $Hdd A, B.C, D
3.$HddA. C.D
4.®dd B.C.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212313162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The chronological sequence of the space-biased media of communication, as identified as Harold
Innis:

A. Radio

B. Television
C. Papyrus

D. Paper

E. Newspaper

Choose the meost appropriate answer from the options given below:

1A C.DEB

b2

EDVEAB
3. D, E, B, AL

4.E.B,A,D,C
Options :
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1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212313162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RS 3 T Faferd R SHfiAd GaR TS &1 Siam it 3w 8

A STl

B. callidu

C. HI9UA (UURY)
D. I

E. HHHK UH

4 fou U faeedl § 9 ¥8T 3R &1 994 DI

1.4, C, D, E; B

B

LD EAB
3.D,E,B,A,C

4. E.B,A,D.C
Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212313163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LIST1I LISTII
{Concept) (Meaning)

A |Frames [. | Organized sub- culture

e I The behv_at that people are duped into blindly accepting the prevailing

ideology

Falze . .
C. . III. | A class of messages that share distinct characteristics

CONSCIONSNEss
D. | Genre IV, | Social constructs

Choose the correct answer from the options given below:

1. A-1, B-II, C-III, D-IV

t-2

3. A-III, B-1V, C-1, D-II

4. A-1V, B-1, C-1II, D-III

Options :
1.1
2.2
3.3
4.4

. A-II, B-III. C-IV, D-I

Question Number : 20 Question Id : 34212313163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

24/186



8/31/24, 10:38 PM

AT 1S 1Y &I 11 DT e Hifoy
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T 1

g 11

(STTYUTITM) 3
A |BH L |H7fed 3U- S

: Te 3y 1S Aeljg SMeY &1 3HE 96 B WIHR BI- W G Ui &1
B |hsH 1L ; S

HOG Il | 1o | =i o v ol o gy faRieand 9ren $ed §
D. | g v | grarfes e

" U U f[ddedl § U I8t 3R 1 994 BIIT;

1. A-I, B-II, C-III, D-IV

2. A-11, B-IIT, C-1V, D-1

LN

- A-IIL B-IV. C-1, D-II

4. A-IV, B-1, C-II, D-III
Options :

1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212313164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the missing term in the series given below:

1, 75

I

b

4.

25.81,121,.72. 337

. 209

208

Options :

1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212313164 Question Type : MCQ Option Shuffling : No
https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Correct Marks : 2 Wrong Marks : 0

:ﬁﬁdﬁr{ gl I o TR 1 BIfSIT:

Va6l 1210857

[
b3
—
—

3.209

4. 208
Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212313165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is/ are true?

A. The average of given data is less than the greatest observation and greater than the smallest
observation of the given data.

B. If the observations of a given data are equal, then the average of the data may or may not be
same as the observations.

C. If all the observations of a given data get increased by x, then their average is also increased
bv x.

D. If all the observations of a given data are divided by x. then their average may or may not
change.

Choose the meost appropriate answer from the options given below:
1. A B, Conly
2.B,C,Donly
3.A. . Conly

4. D only

Options :
1.1
2.2
3.3
4.4
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Question Number : 22 Question Id : 34212313165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frafafad & ¥ & a1 $1H-4 94 5/62

A. %ﬁnﬁﬁﬁﬁﬁraﬁﬂﬁﬂﬁﬂﬂﬁwﬁwaﬁ?ﬁqw&ﬁmﬁ%mﬁwﬁm
|

B. TG fGU U 3{{H 3! & UeiU] SRAR-GRAR g, dl 3llds! & Sad Uefon 4 {43 g1 9dhdl ¢
a1 Teit 4 g1 gpan G|

& Ir!:c‘:f%t!m 3ifarsl & T Ueur & x 31 3fg Bl ol g, 91 3% S H Ui x B IS &
G

D. 9 fGU 7T 3fidms! & I Uermn &f x § fauiTd faodn 51 € i 8 9dl ¢ [ a1
319d qRafdd gl Uohdl g a1 el Yl 81 Uhdl g

+id fau U fad el § 9 @81 3R &l 994 Diflu;
. HAdA. B, C

2. ®dd B.C.D
3. HAd A, C
4. ®dd D

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212313166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The numerator of a fraction is 4 less than its denominator. If the numerator is decreased by 2 and
denominator is increased by 1, then the denominator becomes 8 times the numerator, find the

fraction.

3

1. —

7

5 3

9

3

+ ad

8

2

. P

7

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212313166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U 175 T 3 3P g U 4 S g1 A 3 H 2 B HHl BT W AR GIH 1 Pl dfg Bl W
dl €2, 32T 3T THT YD g1 A6 | 98 1374 1 B

3

i

7

22

9

e

8

4.2

7

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212313167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A man sold an article at a profit of 6.5%. If he had sold the article for 2 1250 more, he would
have earned a profit of 10%. What is the cost price of the article?

1. ¥1.0000

(]

. £10,500
3. £9.000

4. £9.,500
Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212313167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uch AT = 6.5% &b 1Y TR U 9] 1| gfe 394 3Y, I B 5. 1250 4D e o o1
BT 1 Y 19% ATH §AT 81T 39 a%d &l AT Hed 341 82

1. £1,0000

]

. £10,500

3. £9,000

4. £9.,500

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212313168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In a certain languages:

“Sun rises in the East™ is coded as “ST SR SI SH SS”

“Sun sets in the West™ is coded as “ST SE SI SH SU”

“Your house faces East” is coded as: *“SN SM SA SS”

“His house faces West™ 1s coded as: "SC SM SA SU"

How the words “East”. and “West” are coded in this languages respectively?

1. SR, SE

[

. SS. SN
3.SS,SU

4. SN, SC

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212313168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ERRNEIR

“Sun rises in the East” @] “ST SR SISH SS"H 30 H P ldg ERISIGI

“Sun sets in the West” @I “ST SE SI SH SU” & ¥4 H Deds [T Sl g
“Your house faces East” B “SN SM SA SS” & 0 H DHed [l STl g

“His house faces West” @I "SC SM SA SU" & ¥U H Dcd [HaT STdl g

T YW H “East”, “West” o1 Teq| D! HH: [hd UBR T Hedg hdl 141 52

1SR SE

[

' SS. SN
3.8%. 811

4. SN, SC
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212313169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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"Either we forcibly sterilize the third world people or the world population will explode and all of
us will die. We certainly don't want to die, therefore we must forcibly sterilize the third world
people." Which informal fallacy is committed in the above argument?

1. Hasty generalization

[

. Slippery slope
3. False Dichotomy

4. Ad hominem
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212313169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<71 dl ella {3y & AT B Ieqdep THeicl Bl <TG a1 fa% T STieAr H fawhle giv 3k gH

ol AT TR S, g MY ¥U U 0T 98T g d Suiart g4 Jaid 9y & il &l ddgdd
TS BT AMeT | ITLdd Sfdd H BT SHIDRING Tb &¥ g2

1. A= IErdisRo

2. fhga-gad aM
3. 39 TgHTSH (BT SIEdhIclHl)
4. AfGITId 3ne (Us gifiam)

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212313170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following statements are true?

A. Propositions or statements can be true or false.

B. Propositions can be valid or invalid.

C. A valid argument must contain only true premises.

D. A valid argument must have a true conclusion.

E. In a valid argument, if its premises are true, the conclusion cannot be false.

Choose the most appropriate answer from the options given below:

1. A and E only

b2

.C. D and E only
3.Dand E only

4. A, B, Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212313170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafdRad H ¥ ®H-4 d2H 9d g2

A. UGl a1 H2F 9 91 39d 81 9ad o

B. Ufaiftrat 3y a1 21d g1l 9ad gl

C. U 3y, gid § had Y SR g1 xiee g+l =gy |

D. U 9% gfeki § 330 G [Asht g1 d1fgu]|

E. U 48 b H IIE SYDT ARG T € Al (5PN 38 el gl Gl |

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. hdcd A 3R E
2. Hdd C, D 3RE
3. HddD 3R E
4. BT A, B,C 3R D

Options :
1.1
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2.2
3.3
4.4

Question Number : 28 Question Id : 34212313171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in the order of decreasing connotation.

A. Polvgon
B. Rectangle
C. Geometry
D. Square

Choose the meost appropriate answer from the options given below:
1. LB Coh
2.CABD
3A.C.B,D

4.D.B.AC
Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212313171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 33/186



8/31/24, 10:38 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

FafaRad 1 7und & ged & ¥ Fdfud $ife:

A, OTEHTHE
B. 3gd
C. STfert
D. 3

A fGu U A edl § O 8T 3R &1 904 DifoiL:

.D,B,C, A

2. 048 B D
3.3)A,C,B,D

4.D,B. A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212313172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
(Member as per Nyayva syllogism) (Statement)
A | Upanava [. | Whoever 1s man 15 a mortal just like Pyvthagoras
B. |Nigamana IL | Socrates 1s mortal
C. |Udaharana III. | Socrates 13 a man who 1s invanably a mortal
D. |Pratijna IV. | Therefore Socrates 1s mortal

Choose the correct answer from the options given below:
1. A-II. B-IV, C-1. D-III
2. A-IITL B-TIV, C-1, D-II
3. A-IIL B-1, C-IV, D-II

4. A-III, B-11, C-1V, D-1

Options :
1.1
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2.2
3.3
4.4

Question Number : 29 Question Id : 34212313172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

AT 1S 1Y &I 11 DT e Hifsy

T A 11
(<TG 91 & AR Tee) @U)
A |3uT™ L | 7 € 98 USUFIRY & 9HE A B
B. |fFmH L | goHad TR e
c. | e 1. | G U oAfad & & Fearg 30 J 91 &
D. |ufamm V. | Zofeu gaa A4t 8

A fGu U 9 edl § U Iot IR BT I999 BIIT;

1. A-II, B-IV, C-1, D-IIT

(B

3. A-III, B-1, C-1V, D-I1

4. A-III, B-I1, C-1IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212313173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-A-IIL B-1IV, C-1, D-1II

Which of the following fallacious arguments involves unproved middle term as per Nyaya logic?

1. Sound is eternal because it is produced.

f-2

3. The sky- lotus is fragrant, because it is a lotus, like the lotus of a lake.

. Fire is cold because it is a substance.

4. The hill has fire because it 1s knowable.

Options :
1.1
2.2
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3.3
4.4

Question Number : 30 Question Id : 34212313173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frafafad few abamgf gffa ¥ =g ad & SR AT A8 U id §
&3 2% ¢ 1 I8 I gidl 2|

. 31t =iidd ¢ gufay gg uard |
- HIBRIBHA YT BId1 § Hifd 98 Hid & HHA & GHH &l HHd elai gl
4. UgTS! o ¢ lfd T8 JT B

Options :
1.1
2.2
3.3
4.4

[

[

L

Question Number : 31 Question Id : 34212313174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a software that locks data files and demands a monetary payment in
exchange for unlocking?

|. Ransomware
2. Spyware
3. Logic Bomb

4. Trojan Horse

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212313174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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99 T 9 &1 98 G dIR ¢ 51l S1e1 WIgdl ol diddg $R diell @ie & ded 9 fadig YdH
&I A HdT g2

1. IR

2. WEAWR
3. il dd
4. TIoH gIY

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212313175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion is incorrectly matched?

1. MIDI- Musical Instrument Digital Interchange

t-2

. LED- Light Emitting Diode
3. MPEG- Motion Pictures Experts Group

4. PDF- Portable Document Format
Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212313175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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UfRquif § 39d [9%dR &1 (99 o 9 S 91 g guferd 8l €2
T 3% S 31 FfSihd 3ghe fSfoied $exe

TA T SI- dge Ui srrs

TA Y S off- A et tamed g

4. Ul 31 Uh. UIded STagHe Biie

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 33 Question Id : 34212313176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L) represents a number L in base- M number system. then identify the correct descending
order of the following numbers A-D when converted to decimal number system.

A. (123);
B. (1211)
C.(212)
D. (201)s

Choose the meost appropriate answer from the options given below:
1..A,C.B.D
2B DA C
32D B, CA

4.C,AD,B
Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212313176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gl YR -M AT YUl T (L), GAT L DI S=01d1 . oI SRHcd Y1 Yorel H uidikd
fhU ST U= 799 T&=A131T A- D & el HaRIgl HH DI UgdH DI

A. (123);
B. (1211);
C212)
D. (201)s

A fau U fasedl § U ¥8T 3R 1 994 DifoIu:

I.AC, B D

2. B, D,A,C
3.D,B,C, &

4.C,A,D,B

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212313177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following software titles are examples of application software only?

A. MS- Excel

B. Android

C. Adobe Photoshop
D. 10S

E. Windows- 11

Choose the most appropriate answer from the options given below:
l.A. Band C only
2.Band D only
3. Aand C only

4. A and E only

Options :
1.1
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2.2
3.3
4.4

Question Number : 34 Question Id : 34212313177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

8 1 4 $H Y UitedaR e Had ATl UiteddR & gl 3aleUl g7
A. TH UH Ud
B. U3MIS
C. TSI BicRIT
D. 318 3 TH (i0S)
E. {489 11

[GU U [ddedl § 9 g7 3R &l 99 DIl
|.hdd A. B3R C

&dd B3R D
3. dhdd AR C
4. Hadd A 3R E

Options :
1.1
2.2
3.3
4.4

=
dl

]

Question Number : 35 Question Id : 34212313178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(ICT Terms) (Meaning)
A | Printer I. | Volatile memory
B. | Scanner II. |Processzor
C. |RAM III. | Output device
D. |CPU IV, |Input device

Choose the correct answer from the options given below:
1. A-IL, B-IIIL. C-IV, D-I
2. A-IIL B-IV. C-1. D-II
3. A-L, B-1I, C-IV, D-III

4. A-II1, B-1IV, C-11, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212313178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(Gﬂéﬁém

b

A U= I | doid |
B. |%T 1. |UhTD

C. [3RuwH it | gfea

D. [Hidig IV. | 3T gfdd

Ard U U f[dahedl § 4 To1 SR BT 999 DIl

1. A-II, B-III, C-IV, D-I

2

. A-IIL B-1V, C-1, D-1II

3. A-L, B-II, C-IV, D-III

4. A-III, B-1V, C-I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212313179 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Green Muffler is used to reduce

1. Air Pollution

t-2

L8]

. Water Pollution

. Noise Pollution

4. Soil Pollution

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212313179 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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U A% &1 UG H9ieiRad & &H S & ot fdhar ST 6

—

f-2

L8]

4

AR UGHUT
EEE R T
&g Teuu
AR A

Options :

1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212313180 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which of the following has the highest Biological Oxygen Demand (BOD)

1

t2

. Potable water
. Unpolluted surface water

. Contaminated surface water

4. Municipal Sewage Effluent

Options :

1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212313180 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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fraferRad & O foud sifieda sifdd SiTadtsm | @ off 1) gidi 82
1. Ug Sd

. 3UCvd Tdgl 9d
. Uevd Udol 94
4. TR 79 & Sd A &1 dig: 1

Options :
1.1
2.2
3.3
4.4

f-2

L8]

Question Number : 38 Question Id : 34212313181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following countries were asked to reduce their green house emission by 5% below
the level of 1990 by 2012 in Kyoto protocol?

A. United States
B. India

C. Russia

D. Canada

E. China

Choose the most appropriate answer from the options given below:

l.A. Cand D only

I3

. C. D and E only
3.B. C and E only

4. B and E only
Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212313181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fgfaRad <2 § O {1 <21 &1 el 9a=R (@iel Uieldhid) H 2012 d& 304 Wi 813y
IHoiH &I 9y 1990 B TR Y 5% HeH & 070 Hgl 1 U

A. 9gad T
B. HRd

C. 39

D. B8]
E.dH

- feu e faseut # ¥ #T IR &1 99 DI
1.Hdd A, C AR D
2. $had C, D 3ARE
3.$ad B, C 3R E
4. HddB 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212313182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct sequence of Risk assessment for environment contaminants?

A. Exposure Assessment

B. Dose Response Assessment
C. Risk Assessment

D. Hazard Identification

E. Risk Characterization

Choose the most appropriate answer from the options given below:
. EyA B E C
2 DA BCE
3CED.BA

1. E.E€.8. XD

Options :
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1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212313182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qa{aRU] & UGN dedl & SlIRaH e &l Ugl SHhH I g2

A. IGUTHA 3{ihad

B. HHT 341 SHidhaH (SIe 18Ul THHHe)
C. SIRad fida

D. ¢ &l UgdH

E. SIRGH & A&

4 fou U faeedl § 9 ¥8T 3R &1 994 DI

1. DAB E,C

B

B AB,. C.E
3.C,E,D,B,A

4.E,C,B,A,D
Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212313183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are considered as air pollutants?

A. Mist
B. Soot
C. Fog

D. Smog
E. Fly ash

Choose the most appropriate answer from the options given below:

. A.Band D only
2.B.D and E only
3.C.Dand E only

4. A. B and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212313183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad 9 9 fog darg ughed 91 Siidi g2

A DI

B. ¢

C. 4y

D. 4H- DI
E. TRiTs UX

-+ fGu T fasedl § 9 &gl IR &1 994 Sifeu:
. hdd A, B3R D

2. ®Hdd B, D 3R E
3.%dd C,D3RE
4.%Hdd A, B3RE

Options :
1.1
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2.2
3.3
4.4

Question Number : 41 Question Id : 34212313184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Anglo- Indian Vidyalaya (college) was founded in Calcutta in 1816 by

1. The Christian missionaries

f-2

. The local government
3. The East India company

4. The people of Calcutta

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212313184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UEl-S (ST [eeid (i) &1 RITYAT bl ay 1816 H HRlidRdd & gRT &l 15 -
fopfag Surs) freHial gy

QY WHR GRI
4. HAGT d AN gRI

—

-2

L

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212313185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which one of the following personalities advocated western education for Indians in the early
nineteenth century?

1. Rajaram Mohan Roy
2. Lord Hardinge

3. Mahatma Gandhi

4. Rabindranath Tagore
Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212313185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAafeRad H ¥ (69 aafdd 3 3i4dl 9ol & HRH H HRA™! o Telu urre =re &1 95204
b

1. YNIRTE Higd 3™

0. TS gl
3. HIGTHT TTieit
4. Tl A1y SR

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212313186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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At the Sikh Kanya Mahvidyalava, books written by which of the following Singh Sabha stalwarts
were taught?

A. Bhai Veer Singh

B. Lala Devraj

C. Harnam Kaur

D. Bhai Mohan Singh Vaid

Choose the most appropriate answer from the options given below:

1. AB.C.D
2. Aand D only
3. Aand C only

4. B and C only

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212313186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

f¥arg -1 agTiaeray o fig gy & AgfaRad fo gultts il g1 fafad g&ds ugre
EIGIR

A HIS dR [8g
B. ddl GaxIsl
C. BT HR
D. HI3 Hig-IRig 9

-+ fGu T fasedl § 9 &gl IR &1 994 Sifeu:

1.A.B.C.D

2. Hdd A 3R D
3. Had AR C
4. Had B AR C

Options :
1.1
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2.2
3.3
4.4

Question Number : 44 Question Id : 34212313187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the chronological order of the following British Authorities /Persons who took interest in
higher education in India.

A. Lord Curzon
B. Lord Ripon

C. Lord Canning
D. Lord Dalhousis

Choose the most appropriate answer from the options given below:

1.A B CD

B

B, DA, C

3D, CB, A

4.C,D. A, B

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212313187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafarad 34 wifisRal safdaal &1 SIasa J1d &3 fSgiH YR ¥ 3= Rien o of i)

A. TTS Boid
B. dls RUA
C. I8 ST
D. dle Sclglsil

A fGu U A edl § O 8T 3R &1 904 DifoiL:

1.A,B,C,D

[

B, D,A,C

3.D,C,B,A

4.C,D.A.B

Options :

1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212313188 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
{Thinkers) (Text/ Subject)
A | Bharatmuni I | Astangasamgrah
B. |Patanjali II. | Mahabhasva
C. | Vagbhata II1. | Brahmsphutasiddhanta
D. |Brahmagupta IV. | Natyasastra

Choose the correct answer from the options given below:

1. A-IV, B-11, C-1, D-III

]

. A-IV, B-1, C-II, D-III

3. AL B-L, C-II, D-IV

4. A-IIL B-11, C-1, D-IV

Options :
1.1
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2.2
3.3
4.4

Question Number : 45 Question Id : 34212313188 Question Type : MCQ Option Shuffling : No

g28.digialm.com/CAE/viewHtmIPDFAction.action

Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e Hifsy

A fGu U 9 edl § U Iot IR BT I999 BIIT;

1

[

I II
& | avetm
A |wRagF I |3PiEue
B. |Uduife . |9e™Esg
C. |arye 111 | §ershe g
D. | SRR IV, |qTeErE

.A-1IV, B-TI, C-1, D-IIT

. A-IV, B-1, C-II, D-III

. A-III, B-1, C-II, D-IV

Options :

1.1
2.2
3.3
4.4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Id : 34212313189 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

4. A-III, B-11, C-1, D-1IV

3
342123518
No

Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Question Label : Comprehension
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Read the following passage carefully and answer the questions that follow:

Nicotine is only found in tobacco and leads to cancer. But is it true? It is a natural ingredient
found 1n several plants. Various vegetables such as eggplant, tomatoes, potatoes among others.
also contain nicotine in trace amounts.

There are more than 7000 chemicals in cigarette smoke. Of these. at least 250 are known to be
harmful to health, such as hydrogen cyvanide, carbon monoxide and ammonia. Some are natural
components of the tobacco plant itself, but most harmful substances are only formed on
combustion of tobacco and not by nicotine itself.

Products containing nicotine are often used to reduce anxiety. stress or depression. A survey in
the ‘Human Centric Approach to Tobacco Control” report highlights that stress and anxiety
motivate tobacco consumption for 62% males and 40% females in tier I cities.

Nicotine from cigarettes is absorbed into the lungs through inhalation of smoke. When nicotine
enters the body, it enters the circulatory system and reaches the brain within 20 seconds, causing
nerve stimulation resulting in feeling of euphoria.

The burden of cancer and tobacco related diseases is immense. A recent report by WHO suggests
that new cancer cases are likely to rise to at least thirty- five million in 2050, a 77% rise over the
cases diagnosed in 2022. In India. an estimated 1.4 million cancer cases were recorded in the
same year, while one in nine citizens could develop cancer in their lifetime.

Sub questions

Question Number : 46 Question Id : 34212313190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements accuracy describe the presence of nicotine in plants?

1. Nicotine is found in several plants, including some vegetables, in trace amounts

]

. Nicotine is exclusively found in tobacco and not in any other plants

L

. Nicotine is synthesized only in laboratories and not naturally found in plants

4. Nicotine is a by product of industrial processes and not naturally found

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212313191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following harmful substances are produced upon combustion of tobacco?

. Hydrogen cyanide and methane

t2

. Carbon monoxide and carbon dioxide
3. Nicotine and ammonia

4. Hydrogen cyanide, carbon monoxide and ammonia

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212313192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Therapeutic applications of Nicotine - containing products can be stated as follows:

1. They are used to increase physical strength

t2

. They are used to 1mprove cognitive function.
3. They are used to reduce anxiety, stress and depression

4. They are mostly used as antibiotics

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212313193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage of male in tier I cities who consume tobacco according to the “Human -
Centric Approach to Tobacco Control' report?

1. 62%

(]
=
=
=]
(=]
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Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212313194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What feelings does nicotine cause upon reaching the brain?

1. Sleepiness

]

. Depression
3. Hunger

4. Euphoria

Options :
1.1
2.2
3.3
4.4

Question Id : 34212313189 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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frrafifEa e &1 ayde e ok 39% a1e i3 U uat & 3w it

fepifed dad TrETd H Ul Sl § 3R U8 $OR &I A1 YRR 6Hedl g | i, 3198 9g1 87
g 3Hd Y4l H UMY S dIell U Wihidd Y9 gl &7, e, 3 3R 3 Sl fafis
gfesrt 7 ot Fdifed D1 3a=y A1 UrE S g

RFRe & 4¢ o 7000 § 1 4fed I B §1 379 ¥ TG GRS, Pled Al
Wﬁmﬁmﬁﬁww%nﬁaﬁwﬁﬁwﬁw STd €1 $9 g
JHID & UIY & UIPpidd Uch . dlid HUDIR gliHdRS Uard Wy Hdiied I g1, dfch
didId & Ged U §d ¢ | [Hdbifcd &I 3ididy & 91t IdTal &I gigdr. ¥ (d-19) AT 3adrg
T B & oI YR SUENT T ST 81 ggeH Oied U ¢ gedl e RUIE o
@ifhd fiar 1 § & a9 (W) 3R giEdr TR 1 & Ul H 62 Ufd=d goul 3R 40
yfard nigensil &l awid & Yad & U SFNRd #3d g1

RFRe &1 Fdifed YU & 3 481 4 Bl § @a2Nd gl ofdl ¢! 5d Hdifed TR
Ay gidl § of I8 URYERUl o H Ua% $dl ¢ 3R 20 Y=y & Hid gk # ugadi .
ST |1 SE1UA gidl g, ST URum Y@- |4 & ¥U & IH- dl ¢ |

$IR 3R drEH I Yeitd Sigl o1 92 3149 81 Sy, Ud. 3. &f U Adifdd Raid |
el 1 ¢ P a¥ 2022 & (HaTHT THon &1 g1 4 99 2050 T SR & U YHI0T bl G
9¢ B YAdH 35 e g4 &1 UG § Sl 77 UidRId 9ig gxidl g1 YRd | ¥ 2022 |
FER ST P 1.4 WICRA U Sl 6T Y 4, Saifey A1 ARSI H 4 TP $I 37
Sliddd O R f[dbi¥d gl gdhdi gl

Sub questions

Question Number : 46 Question Id : 34212313190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfciRad § U & A9 duF uidl | [Halfed & 3uiild &1 e ¢ Y auid &vdl 2
1. (i ifed Tfesal Ofgd 3H UIe! § 3[a=N AR H U™l Sl

2. [FADIfeH -0 U 9§ qalg H Uil Siidl g, fodl 31 aref o Hg|

3ﬁaﬁ1§qﬁﬁﬂaq¢mmﬁﬁwmaﬁmm%aﬁ?ﬁ%ﬁﬁmwﬁﬁw
IS

4. e siienfiie ufchdl &1 Uh 3U- IdIE g 3R Uidbfdd U U Ag! urd SIidi g |

Options :
1.1
2.2
3.3
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4.4

Question Number : 47 Question Id : 34212313191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= ™

[afcRad § 9 &Y giideRS U dwEidh & g4 9 Jdiiad gid g2

1. gIgSlo TEgAEs 3R Higd
2. DI A RS 3R HTa- SS3HFEES
3. [F@Ifed iR eMif=-

4. BIESIGH YEHIE S, $ld A1 313 3R 3{HIfa1

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212313192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fqenife 3fafdy S drd Il & b aig AR &f {69 U § Sl ol Tdhdl g2
1. 361 RIS fdd § gfg & fe1u IuanT {641 Siidi g |
2. 3D GIHHD DY H YR & o7t UG il S g1
3. 3901 G1EdI, TG (W) 3R 3faUIG # HHl a1 & fo1e 39T a1 offdl ¢
4. 391 Ufauifded (IC1- Sratfead) & forg it i=ra: IuanT fhar Sdi gl

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212313193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gH Af<dh T ¢ bl ddiar RUIE & 3ER fear-1 g | Tl Dl Ya- H- did
T3 T 7 Uid=Id g2

1. 62 Ufc=rd
2. 40 Ufa=Id
3. 50 Ufc=rd
4. 80 Uf=rd

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212313194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[elfed & afkiss § uiqy gi+ ok o1 Hid Hggy gld g2
L. HgTee

=GR

3.9
4. 9@- 91y

[

Options :

1.1

2.2

3.3

4.4
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